Moto-All.ru

CIIMCOK JOETAJIEY [IJI9 "SUSPENSION A-ARM AND STRUT MOUNTING -
AOBLH46AQ AX AZ" POLARIS AOBLH46AQ AX AZ SPORTSMAN 400 HO

4X4

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

2007 Polaris Sales Inc.




CIIMCOK IETAJIEH JIJ14 "SUSPENSION A-ARM AND STRUT MOUNTING -
AO8LH46AQ AX AZ" POLARIS AOSLH46AQ AX AZ SPORTSMAN 400 HO

4X4

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 7547313 Cpok noctaBku oT 19 gHel NUT-M10X1.5 2
2 7661203 Cpok 1octaBku 0T 27 gHel PIN 2
3 7547317 Cpok mmocTaBKH OT 19 mHel NUT-M8X1.25 2
4 7518698 CpoK I10CTaBKY OT 27 nHel BOLT-M8X1.25X60 2
5 7710533 Cpok noctaBku 0T 27 fHel RING-RETAINER 2
6 7081263 Cpok 1octaBku 0T 27 gHel BALL-JOINT 2
7 7512084 CpOK IIOCTaBKH OT 27 mHel SCREW(10) 4
8 5436411-070 CpoK I10CTaBKY OT 27 nHel SHIELD-CV JOINT 1
8 5436412-070 Cpok 1ocTaBku 0T 27 fHel SHIELD-CV JOINT 1
9 1542327-067 Cpok noctaBku 0T 19 gHel VXEII:/]IDLLX 4LH,BLK 1
9 1542328-067 Cpok mocTasku ot 19 mHed ﬁ%&'x L RH BLK 1
10 5436973 CpoOK II0CTaBKH OT 27 OHEeHR BUSHING-A-ARM 4
11 5134926 Cpok noctaBku ot 19 nHe#t TUBE-PIVOT,250.28MM 2
12 7518458 Cpok noctaBku 0T 27 fHel BOLT-M10X1.5X270 2
13 7080433 CpoK 1oCTaBKY OT 27 OHEH FITTING 2




